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[fa function f(x) 1s defined as i

( L —

X
% O
f(X) FS VX
(X) <" then: SRAL = Quy 2 = X @
k 0, X-_-O/ A= (ﬂ_ >(

(a)—f(x) is continuous at x = 0 but not || -/ - |
differentiable at x=0

(b)_{{x)1s continuous as well as {'
lerentiablealx =0 ) (O =
f(x)1s discontmuous at x =0

(d) None of these.
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If t(x 2xand g(x)= ‘XT-'{‘I then which

of the following can be a discontinuous
function?
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Consider the following statements:
[. The function f(x)= greatest mteger <
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x_x € R 1sa cont rfuous lllllLllOl] f {( ( —
I (AllArigonometric functions are

continuous on R —— Sia
Whlch of the‘ statéments given above €L
1s/are correct”?
(@) Onlyl (b) OnlyIl
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The derivative of ¢® with respect tf log X
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(a) continuous as well as difterentiable Reg ( e g m(
(b) differentiable but not continuous s 6 )

(c)/u/nftimmus but not differentiable :
| =y OSSR =T0

(d) neither continuous nor differentiable \
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